1) Erganze auf 1 km (alle Angaben bitte in m)

750m 412 m | 736 m | 998 m | 222 m 501 m | % km | % km |% km
250m | 588 m | 264 m |2 m 778 m | 499 m | 500 m | 750 m | 250 m

2) Fllle die Tabelle wie in der ersten Spalte aus

2345 m 3420 m 7050 m 5438 m 63 m 3025 m

2km345m [3km420m |7km 50m |[5km438 m |0km63 m |3 km 25m

2,345 km 3,420 km 7,050 km 5,438 km 0,063 km | 3,025 km

3) Rechne
2m34cm +4m2lcm = 6m55cm
Adm67cm + I1m66cm = 6m33cm

3m2lcm + 95cm =4 m1l6cm
63cm+76cm =1m39cm
45,40 m+31,64m = 77,04 m
47,6 cm+ 354 mm = 83 cm
2,745 km +31m = 2,776 km
2,745 km +31cm = 2,74531 km

4) Sortiere von klein nach groR

1,23 km / 320m / 13,3cm / 321mm / 0,021km / 0,211 km

13,3cm < 321 mm < 0,021 km < 0,211 km < 320 m < 1,23 km
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